BORILLA oPORTS

CHIN UP RACK (10000294)




“PUORILLA oPORTS

Nut: (M8) Washer: (#8)
© ©)
8x 20x
Hex Bolt: (M8*55) Hex Bolt: (M8*50)
7
8x 4x

Expansion Bolt

[

8 Sets

Cross bolt: (M8%30)

Triangular knob: (M8)

A

2X




BORILLA oPORTS

>

&~

P

)

ON)ByZ
o
¢ ‘©

68 cm x 52 cm x 50 cm

Dimensions complete:

Maximum loading: 200KG




1 ©)

Washer (¢8) —4PCS Hex Bolt (M8%50)—-4PCS

M

Triangular knob: (M8)

@
%'a
2
pd
| (///////A<:i§££%£%ijo

|
| |
i b
&
|
d |
™ ;
OE | \:3
s %il 3
E§ * *
< O
- =) =)

(8IN) qou




ssssss

Cross bolt (M8*%30)-2PCS

N
.

Nut (M8) —-8PCS Washer (#8) —16PCS




3 !

=

0

Expansion Bolt—8 Sets




	10000294 安装说明书 Model (1)
	10000294 安装说明书 Model (2)
	10000294 安装说明书 Model (3)
	10000294 安装说明书 Model (1)1
	10000294 安装说明书 Model (1)2
	10000294 安装说明书 Model (1)3

